Related Issue #3

To what extent does globalization contribute to sustainable 
prosperity for all people?


Definition of Economic Globalization

· Definition: Economic globalization can be defined as the process of increasing ____________ ____________ between two countries, leading to the emergence of a global marketplace or a single world market. Depending on the paradigm, globalization can be viewed as both a positive and a negative phenomenon.

· Whilst economic globalization has been occurring for the last several thousand years (since the emergence of ____________-__________ trade), it has begun to occur at an increased rate over the last 20-30 years. This recent boom has been largely accounted by developed economies integrating with less developed economies, by means of foreign direct _____________, the ____________ of trade barriers, and the “_______________” of these developing cultures.

How Did 20th Century World Events Shape Contemporary Economic Globalization?
WW I – The War to End All Wars
· 19th Century Europe was dominated by the question of ___________ identity

· This idea of nationality often manifest itself in the context of  ____________ between countries

· By 1900 war was seen as an acceptable solution to a ____________ problem

· _______during this period was also seen as being the ultimate form of competition between countries 
Alliances and Ententes

· The European powers started to align themselves forming two critical agreements:

· Triple ____________:  Britain, France and Russia

· Triple ____________: Germany, Austria –Hungary and Italy (also known as the ________ Powers)
War!
· With all the major powers allied and a sense that war was __________, Europe was primed for hostilities

· Military planners had set elaborate plans for how this war would be fought

· Europe was simply waiting for the _________
“The shots that shook the World”
· On June 28th, 1914 a _____________ national (Gravrilo Princip) shot and killed the Archduke Franz __________ and his wife Sophie

· The Archduke was to be king of Austria-Hungary

· July 28th, 1914 Austria-Hungary declares war on Serbia

· Serbia has a Military __________ with Russia 

· So… With this one event, due to the alliance system, all of the major powers are at war with each other  

· Large scale ________________ occurs in August 1914

· The Great War is now underway

The Costs of Peace
· Treaty of ______________ ends the war
· Treaty imposes harsh penalties on _______ forcing her to pay reparations – _________ for war damages to the allies.
· Germany also forces to give up colonies – which were shared by other European governments 

Result of WW I on Canadian Economy
· During the war the need for soldiers, nurses and farm and factory workers leads to _________ of workers
· After the war the debt built up by the war leads to the introduction of ____________ tax. 

Russian Revolution
· Russia did not fair well on the battle field and this led to food and fuel _________ at home.
· Peasants and deserting soldiers joined together to get rid of Czar _____________ in 1917
·  By 1922 5 million Russians had been killed by warfare, drought and ____________ caused by the revolution
· In 1922 the USSR – ___________________________________ emerges and Russia is a communist state.
The Great Depression
· On October 29, __________ a record number (at this time) of shares were sold “Black Tuesday”

· by mid-November the average price of leading stocks had dropped to half of it’s price 

· there was a loss of over ______________ dollars

· in the US, 100,000 people were laid off or fired per _______ between 1930 and 1933

· what hurt Canada the most was that the world markets shrank and prices __________ and then the US raised __________ barriers to protect it’s own market

Great Depression in Canada
· Between 1929 and 1932 Canadian foreign _________ revenue dropped by 70%

· In 1930 R.B. Bennett was elected as PM and immediately raised __________
· People were unhappy, so they took the engines out of their cars and hitched up a team of horse. These were known as Bennett ___________.
· By 1935, 10% of the population was __________ operated generally by charities or working on government work projects
· Economist John Maynard Keynes pointed out that two factors were responsible for the Depression: Savings and Investment - when savings increase and investments decrease the economy becomes deflated

· Efforts to end the Depression

· Ottawa Conference 1932 promote Commonwealth trade


- ___________ works projects
- improved labor ___________ and conditions
- strong control over __________
· Although these efforts may have helped, the beginning of ________  is what truly ended the Depression.

World War II

· The great depression led to an economic ____________ around the world but especially in Germany and the rise of Adolf ________ – who promised to fix the situation.
· Hitler spent money on infrastructure and __________ creating an economic “miracle”
· Germany annexed the Rhineland, Austria, and Czechoslovakia without a fight.
· On September 1` 1939 Germany invades ___________ triggering the start of WWII 

· More than 50 countries and colonies participate – killing 2.5% of the __________  population
· Civilians killed totaled from ____ to ____ million, including 13 to 20 million from war-related disease and famine. Total military dead: from ______  to ______  million, including deaths in captivity of about 5 million prisoners of war. 

WWII and Canadian Economy
· WWII had different effects on the Canadian ____________
· Canada had become one of the world's leading automobile manufacturers in the 1920s, owing to the presence of branch-plants of American automakers in Ontario. In 1938, Canada's automotive industry ranked ____________  in the world in the output of passenger car and trucks, even though a large part of its productive capacity remained idle because of the Depression. 
· During the war, this industry was put to good use, building all manner of war material, and most particularly wheeled vehicles, of which Canada became the ____________ largest (next to the United States) producer during the war. Canada's output of nearly 800,000 trucks, for instance, _______________ the combined total truck production of Germany, Italy, and Japan. 
Foundations of Contemporary Globalization
· Bretton Woods Conference:

· July 1944 – During WWII, 44 countries met in __________ _________ New Hampshire

· The Delegates were trying to figure out how they could prevent the economic __________ (the great depression of the 1930’s) that might lead to another world _____.

· Friedrich ___________ and government non-involvement in the Economy

· F. A. Hayek _____________ government involvement in the economy

· He believed ____________ and  ________ markets would keep the economy healthy

· Strong supporter of _________  _________
· Milton Friedman

· ___________ believed that everyone would experience greater _____________, as well as political and social _________, if there was ______ government control and ________ markets

· People should not rely on the government for ______ but rather ________ to the changes in the market and in the demand for their goods and services
· John Maynard Keynes
· A British economist at Bretton Woods who advocated the use of __________ and __________ measures to mitigate the adverse effects of economic recessions and depressions. His ideas are known as ________________ economics. 

· Keynes overturned the older ideas of neoclassical economics that held that _______  __________ would provide full employment. 

· Keynes argued that aggregate ________ determined the overall level of economic activity, and that inadequate aggregate demand could lead to prolonged periods of high unemployment.

· Governments must act or ___________ to end economic crisis. 

· International Agreements:

· GATT (__________  _________ on _______ and _______)

· Originated at the Bretton Woods Conference and signed in _______
· Members agreed to slowly eliminate ___________ and trade barriers

· A tariff is a tax imposed on goods when they are moved across a political boundary. They are usually associated with _________________, the economic policy of restraining trade between nations. For political reasons, tariffs are usually imposed on ____________ goods, although they may also be imposed on exported goods. 

· The WTO (___________ __________ ___________)

· Emerged from the GATT in 1995

· WTO regulates trade in services, such as telecommunications and banking, as well as goods.

· WTO has rules to ___________ copyright, and intellectual property (slogans, designs, communications and medicine)

· International Organizations

· The World Bank

· Mapped out at Bretton Woods Conference

· Head of Bank is appointed by the U.S. Government

· Member countries provide funds

· Goals:

· Lends money to ___________, speed up economic development, increase ___________, reduce ___________, fund specific _____________ projects

· The International Monetary Fund

· Head of IMF appointed by European Union

· Funded by member countries

· Goals:

· Provide short-term __________ to countries

· Demand reforms in counties to promote good governance and get rid of ___________
· Transnational Corporations

· Multinational corporation (MNC) or ______________ corporation (TNC) is a corporation or enterprise that manages production or delivers services in more than one _____________.

· Multinational corporations can have a powerful influence in local economies as well as the world economy and play an important role in international relations and globalization.

· Transnational corporations reduce costs and increase profits by building ___________, service centers and __________ outlets in various countries

· The Media

· The media and communication technologies play a direct role in expanding globalization by running commercials that encourage _________________. 

· Consumerism is the equation of personal happiness with consumption and the _____________ of material possessions.

· Transportation

· Globalization requires ________ and timely ___________ of goods around the world

· _____________ – the shipping of goods in standard sized containers has accomplished this.
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Political and economic Challenges
· Outsourcing
· Outsourcing is subcontracting a process, such as product design or manufacturing, to a third-party company. The decision to outsource is often made in the interest of lowering _______ or making better use of time and energy costs, redirecting or conserving energy directed at the competencies of a particular business, or to make more efficient use of _______, labour, __________, (information) technology and resources.
· Trade Liberalization

· Also known as “_______ __________” is a system in which the trade of goods and services between or within countries flows ______________ by government-imposed restrictions. 

· Government interventions generally ______________ costs of goods and services to both ____________ and _____________. 

· Interventions include _________ and __________, non-tariff barriers, such as ___________ legislation and _____________ and subsidies.

· In economics, a ______________ is a form of financial assistance paid to a business or economic sector. A subsidy can be used to ______________businesses that might otherwise fail, or to encourage activities that would otherwise not take place.

· Farming is heavily subsidised. Tax dollars are given to farmers to keep the cost of food ______. Rich countries can afford to do this and it protects their ____________ industries. Poorer countries are less able to support their farmers and it harms their economies.

· Knowledge Economy

· In general the knowledge economy includes businesses and individuals who use ___________, ___________, new ideas and _____________ technologies for practical purposes.

· Knowledge economy jobs tend to be _______ paying and very competitive.

· These jobs offer solutions to problems, but staying up to date is difficult for _____________ and knowing how to prepare students is difficult for ____________ systems

· Privatization

· _________________ is the incidence or process of transferring ownership of business from the _______ sector (government) to the ____________ sector (business). 

· Advocates believe that privatization __________ taxes because the service is no longer paid for by tax payers

· Advocates believe that _____________ from privatization improves ____________ of service and lowers prices

· Opponents of privatization believe that it makes services more expensive because companies must make a ___________ and this profit is part of the cost of service – governments do not need to make a profit so they can offer the service more ____________
·  Opponents also believe that that government run services can be provided to ____________ – not just those that can afford them

· Foreign investment

· Foreign investment is the ____________ of assets in one country by individuals, institutions, or governments in another ______________.

· Advocates argue that Canadian foreign investment keeps Canadian companies ____________, _______________ and ______________
· Opponents worry foreign investments can cause sudden and dangerous risks to a countries economy if investors rapidly ______________ their money, causing businesses to ________ and workers to lose __________.

